AP Chem Chp3 Stoichiometry
Wkst: Molar mass, % Composition

Show work!! Use sig figs to round your answers,
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Part 3: Calculate the number of moles for each sample listed
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Part 4: Find the mass in grams for each quantlty

9, 1788 x 10°” atoms of carbon A imote 2,049, )EB% @(@ C
*
\ 78%&_‘?&2“@ Blorny L Q‘szywélﬂp&@mqu mie & ?

i

10.  9.4044 x 10" molecules ofwater5 "
%4044 x 10740 e \Reza e
T 28410 s\ o
<\ W (59229“;& Ynclegudes \%, I mcle s O > 6\1

AR T s

C‘DS Lo\ \éz,cm‘.g L{ \
10 Gnole. K CO
>(\38 2\ & \%C@% A

7. 10.08 g calcium nitrate QE"-!—\&O%\ \ ooV Q&QMD ';\)L\> (9 "’5 A /9 r‘nc:’é
iore t"""’g 4. 10 %Q&f«MWL C&ép%>am
9.8




Part 5: Identify the type of representative particle for each sample listed and then find the number of
particles for each quantity.
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14. A sample of benzene is analyzed and found to con51st ofﬁ 13.74 g carbon and 1.15 g of hydrogen. Find the
percent composition.
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